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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.
Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
QRuestion-cum-Answer Booklet must be clearly struck off. |
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Q1.

(a)

(b)

Qus A
SECTION A

TUHR I Toh HATHF Hh1 4 U fomm orgien 3¢ 2@t @ forgent ey fais
feid o 7o Taao &9 & Y| ° 3 | W 85% HulEl, S S19 31T &
TeAd TIeR0T o h1 ST HAdl 8, 3H oI@ieh JqfE 1 HUl | S ot 319 319
1 TAd 9er0T 24 1 YA 8wt B I 34 W@ B e B h gurE
W 5% & | T8 A wmen e @ 6 et R g www # sed 5%
AT & AT 3T 7 TeAd Terawor 23 i Hwifdne e §

T o q ot f St o Iheror 1 I8 @i qfe T8 T B} | w7 g9 8

prepp

Your Personal Exams Guide

1% I8 U s/@mEu qfe 78 & (w7 w oft ot ot araa § oo o = e

forator 24 &1 9™ S @) 2

A regulatory body of the government has observed that a particular
accounting error tends to be associated with an attempt to misstate
financial position. Approximately 85% companies attempting to misstate
their earnings will commit this accounting error. For a company not
trying to misstate its earnings, the likelihood of making this crror is
approximately 5%. It has been estimated that the percentage of
companies attempting to misstate earnings at any given time is only 5%.

Suppose that in an audit of ABC company, the accounting error is
discovered. What is the probability that it is not an inadvertent mistake

(i.e. ABC company has actually been attempting to misstate its
earnings) ?

Ush WEHTR H 90 8 90 61 HIET fOehd Mo T 22,00,000 B | SHEEHT HI
AT faeied ¥ 2,00,000 3 | 39 FR % 81 ¢ w90 it bl w1 arfms
T forem TR 8 |

(i) 39 S1d sl &= |qYTedr 8 fh o & mey fasg geg € 25,00,000 9
Gl 8 2

(i) R % 10% & W, 596 FHma =ad 8, 1 Afteean fosea o =
8 ?

The mean selling price of new affordable homes in a metropolitan city is
< 22,00,000. The population standard deviation is T 2,00,000. A random
sample of 81 new affordable home sales from this city was selected.

(1) What is the probability that the sample mean selling price was
more than < 25,00,000 ?

(1)  What 1s the maximum selling price of 10% of affordable home
sales 1n the city whose prices are the lowest ?
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4u=y 1s the integral of the standardized normal
distribution from - = 1o = (in other words, the
area under the curve 1o the lett of o)
nrobabitity of 4 normal random variable not
being more than = standard deviations above 18
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ITEIhST shl THATIT |

What is the main purpose of an expert system ? What are its advantages
and disadvantages ? Explain its architecture. 10

(d) mﬁﬁs-lgmﬁW%m%waﬁﬁmaEﬁﬁ%W-&m
qEF @® 8 ?

What have been the contributions of expert systems with respect to
management ot COVID-19 pandemic ? 10

(e) TUeh Wﬁﬂfm qREISHT st Trg-aneh feferfiga £

_jﬁﬁﬁq (;Zz) Tﬁﬁﬁaﬁ(;gz) |

12 ‘ 2 37 | 5
1-3 2 4-6 3 |
[ ged 1 l 5— 8 1 i
. 2.5 ‘ 4 69 | g
3-6 8 &y F 4 ‘
N ® L s

39Y T (eaeh) Wifaw wa A Hifie

(ii) Hémrﬁﬁﬁr%ﬁmumuqﬁiéhaqﬁm)

(iii) aﬁfﬁﬁﬁx7—Saﬂamqﬁnm?ﬁmﬁmnamri%ﬁamaﬁ%$qw
ﬁ%%ﬁﬂwm)mﬁwmmn?aﬁaiﬁimﬂaﬁﬁﬁmﬂd%ﬁmaqm)
T8 2
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A building project has the following time schedule :

Actiﬁty_ (in Ezihs) | Suliiy ~(in ;In‘ltlallihs) |
1_9 2 3-17 >
1-3 2 3-8 ’
1-4 1 0 =3 !
o 2-5 4 43 °
36 8 7-8 :
8-9 3

Draw a suitable network and calculate :
(1) Critical path and its duration 4
(11)  Total float for each activity _ 4

(i11) If the duration of activity 7 — 8 is increased to 6 months, will the
critical path change ? If yes, what is the new critical path ? 2

Q2. (@ () “FIF T O9H HEaqUl WHITd® &R &1 oA g |7 T Hifvm | &
U T §9A o [T T 999 & 8d Hew@qUl hil H FEleg
- T |

Gi) Tames wEE g ke (fifsfes) ta@E & &y 9 51+ & T
$IfSTT | 3T A, W T TS hi ITYTHAT I Toh 38 Y |

(iii) Uk I Th-Ush 3ISEOT od Y, Tl HIA, AN AT UTd IY=ieid
HIE/Ag 1 qieATYa hitve | 31y Tt fafawmoft sers 7 9@ S1ferehan
uifed (fed) S8 & gehd 8 2 W hifae |

(iv) “Oeg AT Td [od [GRENu AR =AdH i H AU HEwqul
YiHehl 3 hid & | IR | |9Hesy |

(1) “Plant location is the most 1mportant strategic level

23

decision-making.” Explain. List down important factors to be

-1

considered for locating a new steel plant.
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(b)

(i1) Explain the advantages and disadvantages of preventive and
predictive maintenance. Give one example of suitability of each of
these 1n industry.

(ii1) Define scrap, surplus and obsolete items, giving one example of
each. How can you maximise return from these 1n a
manufacturing unit ?

(iv) “Value Engineering and Value Analysis play very important roles
in cost minimisation.” Elaborate.

3ATHI AN 3IEA H T A=/ 8 2 F1 W died & Tob gfem s # <o 4
3-9ThR 9 A I 6l 8 ?

What 1s the difference between e-government and e-governance ?
Do you think, across the world, countries have achieved satisfaction in
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J1

J1

e-government ? 10+56=15

Teh U 99 Wy 99 9 hIUAEREE 9™ HgH shl I &+ fau
T 40,00,000 fasma= & foru aqefea fvu 8 | g 9oer o Tagmaa 35T foeu
ST ea S FHERTE | YR e fosom @ @ra 20,000 3R UES
3000 AN dF AU T T 3 | IS FHER-GT W fawes are
T 50,000 3R 989 7000 ARN qo AT T 0 8 | 51 ey faum
o= STfiEme & T 9910 99, SUIG1 | SE AR e Ygad Shi ohiTST
ST, 9 39 @ 4 Fuig faan @ 6 sn-a-wn 10 fasmm, 19 TR %,
39 foru Sran | iy /), e fasmoEt bl g +H-9-h0 guTaR-gy fasest
%1 TETT & IO 7 |

T bR @ fohad fagmAi &1 3wam fpn smu 2 Ag fopaw @it o ugw
T ? AJHeAdd (35a9) THIEH Hohied Sl @ft ATavaehared] & ae9d A<l

& ¥ a8 Al & |

A State Public Health Department has allocated ¥ 40,00,000 for
advertising information on Coronavirus pandemic. Two types of
advertisements will be used : Radio and Newspaper. Each radio
advertisement costs ¥ 20,000 and reaches an estimated 3000 people.
F.ach newspaper advertisement costs T 50,000 and reaches an estimated
7000 people. In planning the advertising campaign, the Public Health

- Department would like to reach as many people as possible, but they

have decided that at least 10 advertisements of each type must be used.
Also, the number of radio advertisements must be at least as many as
the number of newspaper advertisements.

How many advertisements of each type should be used ? How many
people will this reach ? Find the optimal solution that best satisfies all

requirements.
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Q3. (a) Serfl 1 T caEEE F UE BET 9Rd & 9 AT W F AR Haw w9y
g (=ft.omg R .ef.) @ foefi wgma @ @ehd ® ot &t & St
fireir gamrard JTEet & TeTehd Hd 8 3T 39 WY <d 7 | T8 JeITohA
9fe T waE adt 2 | o, ¥ qu et 3 S o for s
T g1 Oeaitea atdel 1w fmfataa drfose & <1 1% 2

. _mir:f fa% | l—l\(fﬂ-ﬁ;ht_'l—i‘ril'laa:l
(fz1 9) ‘ (we)
_57 | 20
‘ 59 | o 12 o
—87 - 21 o
21 | ___4 B _'
i “60 1 ;
‘{ 121 ‘ 31—
15 o 3 »
18 o 5 e
"27 - 3
7O B 17 (.

() S % YR W, =y a1 (FrR) W uieme wisa sl it

mﬁ%l

Gy vt wfeme aied 1 @ w0 StafAfee wdn g 2

Gii) 3T offepsl w MU W, TH AHR 100 Tl o B HT T ATHT
fora forcfia werETe 3TaEdl Sl geliehd L Tehdl 3 2
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Entrepreneurs who want to start new businesses in a city can seek
ﬁnancial support from its City Investment Promotion Board (CIPB). The
officers in CIPB evaluate applications for financial support and give
their recommendations. This evaluation process takes some time. The
time spent by the ten officers in CIPB and the number of applications
they evaluated are given in the following table :

e , _ -

- Time spent | Applications evaluated ‘

- (1n days) _ - (Number)
| 127 20_ il
—59— - 12 —:
87 o 21 | |
a4 '
- 60_ 15 o
B 121 . . 31 - .
15 X 3 _ N
18 - 5 Y
Cw _
 rpgma 17
(1) Based on the information, determine the least squared linear
regression model. 10
(11)  What does the slope of the linear regression model represent ? 5

(1) Based on the above data, what is the approximate predicted
number of applications for financial support that an officer can

T

evaluate with 100 days of work ?

(b) () T IR HI PET FHET HE AU gy gRadasiia wa g
e omfeAt (Irdm) Y g Y | <X wE < amfaE % 3w
I YTV |
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Gi) WA si-pmmd fwfere i w0 & oy wnfees & e o 8 @liad
2 | Tesai & affes @Ua 1,350 @ Td I3 fosd <l 7A€ 338 | T
IR § fees wiien sl gAIa o 9id oW T 11 @ W@ @ hi |0
fesd b)Y T T 22% 8 |

o Wl F Freaw o T W@ % ou weh 91§ foraq fesai 1 e

(HATS) & =Y ? (Fehcan qul a&dl o)
. @ @ w1 3w fem T R, 368 gt @9 Seaie & 3ge
hHINTT |
o IR Yer® Fad 25 % Uk U @ fesw S=ar g, @ w1 HEHT 6
50 31YET 75 @iigd =M ?
(1) List down Variable and Attribute control charts used to monitor

."'l-
e T

quality of a product. Explain the use of “X” and “p” charts.

(ii) Morton Confectioners buy plastic boxes in bulk and use them to
pack biscuits. Annual requirement for the boxes is 1,350 and each
box costs T 33. Ordering cost is estimated to be ¥ 11 per order

and carrying cost is 22% of the cost of the box.
o How many boxes should be ordered at a time so as to

minimise the expenses ? (Take nearest whole number) 3
o Mention three assumptions that are associated with the

formula used. 2
o If the supplier sells the boxes only in lots of 25, should the

company buy 50 or 75 ? 5

(¢) el G99 (STE) I e TEUHS Alhsl T9d Hiedd el Sl & ?
deureas JAfhel Hud ye dghd (STRA.Awmum.) # drifeehid T e
(Bree) w1 & 2 wrefier it 991 R 2 G (FH1R) Feit w7 ? fegEht el
TR ?290E T 8 ? 9IS o ToIeh JehR i GHATIY |
When is a database known as a relational database model 7
What are tables and fields in a Relational Database Management
System (RDBMS) ? What is a primary key ? What is a unique key ?
What is a foreign key ? What is a join ? Explain each type of
join. 2434+24+2+2+2+2=15

Q4. (a) 39HH HEgd A Gemd.) w2 ? oMW ughi wa aglaw
TfraT- Al TN (Hediud ATRaTt UTerehe ) | - =1 8 7 |
g friee (R dt. 1) va fafmion gmmem FEsE (memd. 1)
FAT-FAT 3T & 2
What is Enterprise Resource Planning (ERP) ? What are the differences
between an ERP system and multiple software applications ? What are

the differences between Material Requirements Planning (MRP I) and
Manufacturing Resource Planning (MRP I1) ? 5+10+5=20
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B O S T
Tehu, 7T wdtetori Y wen 850 1000 | 750 '

gfafes (fds) i N s=r 12 15 11 17 10

900

TeIfercaTer o T9ewres 9= =mad & Top @ o= Gmfasfaat st 91 e dvrenss
qhigron | Ffewt 1 erura fisy #

39Yth U ®d IUYH I TH Jehfcdsh GNHeqstl i SdET | qRehedd T o
&1 5% e T 9T shIfSU Ud Roms =1 9ol hifau |
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aticien
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_%ﬂlf:i:icll bl | _ - ;
VY ‘ 5% 1% 0-1% |
1 3841 | 663 |, 10828
9 5991 9210 13816
3 7.815  11-345 16266
g 9-488 13-277 18-467
5 11070 | 15-086 20-515
6 12592 16-812 99458
7 14067 18475 24-329
8 15507 20-090 26124
0 | 16919 21-666 27-877
10 18307 93-209 29
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The pathology laboratory of a hospital has five pathologists. Samples
arriving at the laboratory for a particular test are randomly assigned to
one of them. An evaluation of the performance during the previous
month gave the following counts shown in the table below :

Pathologist A B C E
‘Number of tests done 850 1000 750 | 900 1050
Number of reported errors 12 15 11 17 10

The director of the hospital wanted to know whether the proportion of
errors 1n the pathological tests assigned to the five pathologists differ.

State appropriate null and alternate hypotheses for the question above.
Carry out the test of hypothesis at 5% level of significance and describe
the result. 15

Table

e e PR, . st - [t —_—

| %2 (Chi-Squared) Distribution : Critical Values of x2

Significance level
Dfig;ediiff 5% 1% 1%
) 3841 | 6635  10-828
9 | 5991 90210 13-816
3 | 7815 11345 16-266
4 9488 . 13277 | 18467
5 | 11070 | 15086 20-515
6 12592 16812 929458
7 . 14067 18475 24329
8 . 15507 | 20090 26124
o 16919 91-666 27877
10 18307  23-209 29-588 _i

URC-B-MGMT /1



https://prepp.in/

www.prepp.in

prepp

Your Personal Exams Guide

(c) A= d T aferer T Ut Rl A Al 1,20 30 O UK ° g U, § T
#t @ e (dfEga) & 9fd g o (T ) Wea ® | 98 TSk e H
3Tty UTeA (TR ) Ta Tedeh ST hl A1 o1 Wi Jgifd shidl 2 |

ST SIEiE SR | 39T AT
T off i i (7T )
mem 1 23 01 ' 97 : 14
ey 2 . 26 1 25 - 15_ , 12
WS ‘ 20 . ' 21 BT
Him - _11- o | 14 -

(i) IR aud guraE Y 9 i d1Y H HRITAT |

(i)  URIYe PTd shl TOET hifsTg |

(iii) STpelan (3TAH) P a9l ek MEM ¥ Yedeh SR d% o 3ATeed]
™

£ ]

! T HIT |

The table given below gives the cost per unit (in ) for transporting
goods from each of three depots 1, 2 and 3 to markets A, B and C. It also

depicts stock available at each depot and demand at each market.

_ Market ~Market — Market o
3 5 A i B 5 C ‘
Depot 1 23 21 2 | 14
_ . _ . =
Depot 2 26 25 15 | 12
Depot 3 20 21 21 13
Demand 11 14 14
(1) Get initial feasible solution using North West Corner method. 4
(11) Calculate 1nitial cost. 2

(ii1) Find out optimum cost and allocations from each depot to each
market. 9

URC-B-MGMT 12
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Wueg B
SECTION B

Q5. (a) “wHifd®s T F A TN AHS B 2 WHITAE 32T  FATHA o fAfm aw)
shl TqY hifT |

What do you understand by “Strategic Intent” ? Explain the various
elements in the hierarchy of Strategic Intent. 10

(b)  dfvass foumm wHifaat 4 8 4@ wiver 8 2 Afvas fagus w6
BT b RO ! TIY HIfAT |

What are the issues involved in Global Marketing Strategies ? Explain
the reasons of failure of Global Marketing Strategies. 10

() “hlfds-19 HeeaTdl FEMI 1 &Y IUM W Yfdhped T99 78T & |7 39 HI9 T
FAZS LI Eﬁll-ﬁq |
YA THR g YR § of Ud Teq UM 1 HRRY HH g I99E U

ifeTd 39 b1 fad=qT s |

“Small scale industries have been adversely affected by the COVID-19
pandemic.” Comment on the statement.

Discuss the policy measures adopted by the Government of India to
rejuvenate small and medium industries in India. 10

(d) THI % HEFEIE & a9 qiadd yeua 4 afofed g qel 1 foe=m
Hitq |

Discuss the major issues involved in managing change at the time of
strategy implementation. 10

(e) UM KU Tob fohT TR Ush HIA WS HA foptll =¥ swa@™ sl Afvas
S U 3R 31feres gyret @ & ufaewg! s § 9g83d] & Thdl & |

Describe how an efficient logistic function can help an international
business compete more effectively in the global marketplace. 10

Q6. (a) THIdeh T JishAT H YATeRUT = (Th{47) & A8 &l Wy Hifam |
3 Feehl i Tad=qr hife {59 W waieefia s= (FhfAm) & fou fa=m @
sl 3TETIhdl & | 3791 q8g o Tohdl e gq Ush aA9s 3.91.30.9. SR

HITTT |

Explain the importance of Environmental Scanning in the process of
Strategic Management.
Discuss the factors that need to be considered for Environmental

Scanning. Prepare a comprehensive ETOP for any organisation of your
chowee. 5+5+10=20
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by faesht gz Ny va foesft g1 @oma (veadisR) =+t @ i | fafim TR
& faesh gz gomE (veEdisE) @ guE difee | fadsht gor Sifemt o e
SIfEId o Tohd 8 ?

Explain foreign exchange risk and foreign exchange exposure. Describe

the various types of foreign exchange exposures. How can foreign

exchange risks be managed ? 3+6+6=15
) (i) 34 aliwl I faa=r fifve Sa g o i Sfteq 7 usg wm o
THhal g |

(i) W &Y () TR Td T hO1 & Sid GHIh0 agid ol gr
49 % ya@ frmdy Afismes < gel i v Shifsy |

(1) Discuss the ways in which State can participate in the economic
life of a country.

(ii) Explain the major Corporate Governance issues addressed 1n
Clause 49 of the Listing Agreement between a company and
Indian stock exchanges. 6+9=15

Q7. (a) 39 32Vl sl HHZSY 9o 35-E Wi i fogw R fifda 92 R 8 |
I W AT A ' TR TS WHITIE 19Ul shifg | SIOR @94 8
q-re U Tl fifama a6 afyga faa=at Fifm

Explain the objectives around which India’s Foreign Trade Policy has
been framed. Describe the strategies adopted to attain these objectives.
Discuss briefly the various policy measures adopted for Trade
Promotion. 4+6+10=20

(b) HTEHA UL & A faveiwer & ‘o= wife gioam (Afser)” @ auia iR |
39 il +1 auwEy Say I =T & gasy & o 3 vl e
Th-gat ! THTed Ll § |
Describe Michael Porter’'s “Five Forces Model” of Industry Analysis.

Explain the way in which these forces interact with each other to
unravel the industry structure. 15

(c) IuHrwrl H Rerrdal F gur 'g Tdan IUHRET S0 AR # Iuetsy
a9 (wasfid)) = afa hifse | 39 93 1 FEYITE FT STATHTHS JoaTehd
Hree |

Describe the machinery available for redressal of the grievances of the
consumers under the latest Consumer Protection Act. Critically evaluate
the functioning of this machinery. | 13
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Q8. (a) ‘“Tafadieto =emm St aftarer 4 gatq gfads it =1 @ 1 39 99 W
feoqoft hifse | wreE SR grRT uEE S ATl fafadier et &
b 9 3Hh HIOT H Tq¥ HifU |

“Diversification involves a substantial change in business definition.”

Comment on the statement. Explain the type of diversification strategies

adopted by the Indian corporates and the reasons thereof. 15

(b)  Teaer fagefi Howr wa foefl adwifern faw & &9 3@ Wy fifsw | wra
AR g AR TS Ty facs Fewm i e s i Hisr ifewt e

FATAHTHS T&r HifSu |
Distinguish between Foreign Direct Investment and Foreign Portfolio

Investment. Critically examine the existing policies adopted by the

Government of India for attracting Foreign Direct Investment. 20)

(¢)  YTITeROT LI < TEY H GhR U9 A99y ) e 6 faean 9 saren
FIoT | 39 gay d 91 9l gRT I3IT U HeHl & qRong] 1 ST S

YodTehd ity |

Explain in detail the responsibilities of Business as well as Government

with regard to environment protection. Critically evaluate the outcome
of the steps taken by both of the parties in this regard. 15

URC-B-MGMT 15



https://prepp.in/

www.prepp.in



https://prepp.in/

